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1. 'Ω = {1, 2, · · · , p}, Í�p
×²ó�ãF
Ω�Xb�/X�WÝ/), v

E∀A ∈ F , �P (A) = |A|/p, Í�|A|�A��-ôÍó��JuA�B}ñ,

JA,B��Kb×
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2. 'bnÍ��, ÏrÍ���br − 1ÍR¦Cn − rÍç¦, r = 1, · · · , n�
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(i) XãÏÞÍ¦
ç¦�^£;

(ii) uã��Ï×Í¦
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(i) A,B, C
NE}ñ¯�;

(ii) A,B�
!Ê¯�;

(iii) A ∩B ∩ C = ∅;
(iv) A,B,C�
}ñ¯��

4. 'b^£è (Ω,F , P ), X
×r.v., �Y = X2
��µ�LJ�Yù
×r.v.�

5. Y»NBA7ß#Ý?W�².¾¾=(Kobe Bryant)2012O3`31^3x�E?
z#, xìG15g�W/aèÝS�, SR¦ZCª�Ý¥Ú�¾¾=3NBAÝ

ß}, ������1155�, N�¿í�WV23.5g, ¿íú�£V
0.42�
Ý
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6. 'Ω = {−3,−2,−1, 1, 2, 3}, P ({ω}) = 1/6, ∀ω ∈ Ω��X(ω) = 1, ∀ω ∈ Ω;

Y (ω) = 1, uω > 0, Y (ω) = 0, uω < 0; Z(ω) = 2, uω ≥ −1, Z(ω) = −1,

uω < −1�
(i) t�Ýσ-�F1, ¸X
×r.v.;

(ii) t�Ýσ-�F2, ¸Y
×r.v.;

(iii) t�Ýσ-�F3, ¸Z
×r.v.;

(iv) t�Ýσ-�F4, ¸Y , Z/
r.v.’s;

(v) t�Ýσ-�F5, ¸X + Y
×r.v.;

(vi) t�Ýσ-�F6, ¸Y + Z
×r.v.;

(vii) t�Ýσ-�F7, ¸Y 2
×r.v.;

(viii) ���Z�d.f. G(z), z ∈ R, ¬0�Í%�


